BATL.DOR

A MEMBER OF THE ABB GROUP

BALDORRELIANCENFR

Product Information Packet

RSP2442A

.33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.



BALDOR-RELIANCEPFP

Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

Part Detail

Revision: P Status: NLA/A Change #: Proprietary: No

Type: AC Prod. Type: 1712s Elec. Spec: 17WGW438 CD Diagram: CDO0705
Enclosure: OPEN Mfg Plant: Mech. Spec: 17K017 Layout: 17LYKO017
Frame: 48 Mounting: F1 Poles: 04 Created Date:

Base: RS Rotation: RS Insulation: B Eff. Date: 12-17-2014
Leads: 5#18 Replaced By:

Literature: Elec. Diagram:

Page 2 of 6 BAILDOR

A MEMBER OF THE ABB GROUP



BALDOR-RELIANCEF Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

Nameplate NP1203A03

CAT.NO. ENCL OPEN

SPEC. 17K017W438 FRAME 48

HP 33

VOLTS 230

AMPS 2.7

RPM 1725

Hz 60 PH 1 CL B
SER.F. 1.25 DES CODE N
FL EFF 62 PF 62

RATING 40C AMB-CONT

SF AMP 3 USABLE AT 208V 25

SER.

MANUAL N AUTO Y NONE N

Page 30f6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEPFP

Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

Parts List

Part Number Description Quantity
SA077176 SA 17K017W438 1.000 EA
RAQ70740 RA 17K017W438 1.000 EA
TPMRJ59RX THERMAL 1PH 0.75 AUT 120C 1.000 EA
TB0167A01 6 POS SHORT FOOT 300&500 SERIES (27-20,2 1.000 EA
WD1540A01 TERMINAL, 187 SERIES 500 SERIES MAG-MATE 2.000 EA
WD1540A04 TERMINAL, 187 SERIES 300 SERIES MAG-MATE 2.000 EA
WD4100A49 CAPLUG,BP-13/16,PLUG W/RECESSED HEAD 1.000 EA
11XT0832G06 8-32 X 3/8 TY 23 TAPPING 1.000 EA
LD5000A52 LEAD ASSY W/INTERNAL STAR RING TERMINALS 1.000 EA
11XT1032A06 10-32 X 3/8 HX WSHR HD SLTD TYPE 23 2.000 EA
51XWO0832A07 8-32 X .44, TAPTITE Il, HEX WSHR SLTD SE 4.000 EA
XY0832A02 8-32 HEX NUT 4.000 EA
17EP3200BT04 FR ENDPLATE, MACH W/HUB 1.000 EA
RM1000A08 CUSHION RING, MDL 17-33-34 1.000 EA
HA7304 CUSHION RING STRAP, 17 FRAME RESILIENT M 2.000 EA
51XN1032A16 10-32 X 1.000 HX WS SL SR 1.000 EA
XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 1.000 EA
34CB4501SP TERMINAL BOX LID, STAMPED X (PLATED) 1.000 EA
HW5100A03SP WAVY WASHER (W1543-017) 1.000 EA
17EP3100B01 PU ENDPLATE, MACH W/HUB 1.000 EA
RM1000A08 CUSHION RING, MDL 17-33-34 1.000 EA
HA7304 CUSHION RING STRAP, 17 FRAME RESILIENT M 2.000 EA
51XN1032A16 10-32 X 1.000 HX WS SL SR 1.000 EA
XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 1.000 EA

Page 4 of 6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEPFP

Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

Parts List (continued)

Part Number Description Quantity
51XWO0832A07 8-32 X .44, TAPTITE Il, HEX WSHR SLTD SE 2.000 EA
17BA4002B01A RESIL MTD BASE 17 NEMA 48 W/48-56 MTG AU 1.000 EA
SP5111A05 17S TERM PANEL SWITCH W/TABS & .75" THRM 1.000 EA
HA3169A04 THRUBOLT #8-32 THDS X 7.562" LONG 4.000 EA
LB1171 LABEL CARTON 6X6 ON LINE BLANK ROLLS 1.000 EA
NP1203A03 NP LABEL 1PH, SV, REV (FOR COMMERCIAL MO 1.000 EA
34PA1002 PACKING GROUP, BALDOR 1.000 EA
MN416A01 TAG-INSTAL-MAINT no wire (1200/bx) 10/13 1.000 EA
LD5000A352 LD ASSY, ML14-JH16, 6.5" FLAG, .25 STRIP 1.000 EA
LD5000A353 LD ASSY, ML1400AE16, 5", FLAG, .2" STRIP 1.000 EA
LD5318A01 LD ASSY, ML14-1E16 7", FLAG, .25 STRIP 1.000 EA
LD5309A01 LEAD ASSY, ML14-8C16 5" W/(2) WD1000A15 1.000 EA
LD53355 LEAD ASSY. MAG MATE 1.000 EA
LB1506 LABEL "AMERICAN MADE" 1.50 X 1.00 1.000 EA

Page 50f6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEF Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

No performance data has been
assigned to this product.

Page 6 of 6 BAILDOR
A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEF Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

THERMAL
LOCATION
(WHEN REQ'D)

5.63

|

LEAD HOLE
.50 NPT

\W/PLUG

408-416 = 10.50
417-418 =
419-421 = 11.12

17LYKO17

10.75

422—-428 = 12.00

7 ===

5.75

NAMEPLATE
GRD N
S //T\\ SCREW Y
. - —T 581 T - -
| % D
3,00388 —D o
GROUND : [ ca—) [c—]
4 SLOTS _/
.34 WIDE
—— 213 —1— 243—" 2.75 2.50
2.88
[

CUSTOMER IS RESPONSIBLE FOR DETERMINING THAT BALDOR’S PRODUCT WILL PERFORM SUITABLY IN THE INTENDED APPLICATION.

LIOMATILL

REV. DESC: FIX LEAD WIRE LOCATION GRAPHICS (SEE ZTR02 NOTES)

BAIL.DOR

REV. LTR: B |VERSION: 01 TDR: 000000566913
FILE: \AAA\OO077\465 REVISED: 09:50:27 11/13/2010 RESIL 17S NEMA 48 OPEN
MTL: — |BY: ENBENBO SH 1 of 1

Page 7of 6 BAILDOR

A MEMBER OF THE ABB GROUP



BALDOR-RELIANCEF Product Information Packet: RSP2442A - .33HP,1725RPM,1PH,60HZ,48,1712S,0PEN,F1

THERMAL

MODEL 34, 35
1-BLU r——————\

1-BLU

MODEL 17

WHT/BLU

A PHASE

8—RED

5—-BLK

)

B PHASE

®

4-YEL

WHT/ORG

CD0705

NOTES:
1. CONNECT LINE LEADS TO L1 AND L2.

2. CONNECTIONS ARE SHOWN FOR STANDARD
ROTATION (CCW FACING END OPPOSITE
SHAFT EXTENSION). INTERCHANGE
LEADS 5 AND 8 TO REVERSE ROTATION.

3. LEAD COLORS ARE OPTIONAL. LEADS MUST
ALWAYS BE NUMBERED AS SHOWN.

REV. DESC: REMOVE OPTIONAL THERMAL CONNECTION

REV. LTR: F

VERSION: 01

TDR: 000000373039

BALDOR ELECTRIC Co.

s0,0d0

G0£0d0

FILE: \AAA\O0007\141

REVISED: 14:06:03 08/11/2005

MTL: —

[ BY: ENJOEPO

TYPE S, SV, REV, THERMAL, TERMINAL PLATE

Page 8 of 6 BAILDOR

A MEMBER OF THE ABB GROUP




